Campbell's Biology: Concepts and Connections, 7e (Reece et al.)

Chapter 20   Unifying Concepts of Animal Structure and Function

43) Imagine an invertebrate that lives in an estuary where salinity varies cyclically with the tides. If this individual is able to adjust the salt concentration of its body fluids, its salt concentration will have

A) slight fluctuations that are kept within a narrow range.

B) regular variations that range from large to small.

C) a cyclic variation similar to that of the surrounding water.

D) a cyclic variation depending upon when the animal drinks.

44) Homeostasis

A) is the maintenance of a relatively constant internal state.

B) results from hormone imbalance.

C) occurs when the internal environment changes to match the external environment

D) is the way the internal environment influences the external environment.

45) The vertebrate kidney helps to keep the acidity of the body fluids constant by varying the amount of hydrogen ions (H+) it secretes into the urine. You can confidently predict that this aspect of kidney function will be controlled by

A) a positive feedback mechanism.

B) a negative feedback mechanism.

C) nerve impulses from the brain.

D) a hormone produced in the kidney itself.

Answer:  B

Topic:  20.15

46) Which of the following is most likely to be responsible if, when your blood sugar level rises, the level of sugar goes back down?

A) the use of the sugar for energy by your cells

B) a homeostatic mechanism based on negative feedback

C) type II diabetes

D) a homeostatic mechanism based on positive feedback

47) Most homeostasis depends on

A) positive feedback control.

B) negative feedback control.

C) hormonal regulation.

D) predictable environmental conditions.

48) When body temperature is too high, which of the following occurs?

A) The brain sends out distress signals.

B) Blood vessels in the skin dilate.

C) Capillaries contract.

D) The internal lining of the intestine increases in surface area.

20.3   Scenario Questions

After reading the paragraph, answer the question(s) that follow.

Under normal conditions, blood sugar levels are controlled within a narrow range by negative feedback. Two hormones are involved in maintaining blood sugar levels at the set point (about 90 mg of glucose/100 ml of blood). When blood sugar levels rise above the set point, the hormone insulin signals the liver to absorb the excess sugar. When blood sugar levels drop below the set point, the hormone glucagon signals the liver to release its stored glucose to the bloodstream. In juvenile onset diabetes, the body doesn't produce enough insulin and insulin supplements are required.

1) Based on your understanding of homeostasis, for negative feedback control of blood glucose levels to function properly

A) the control center for glucose must be somewhere in the digestive system.

B) there must be sensors that monitor blood glucose levels.

C) there must be several other hormones involved (in addition to insulin and glucagon).

D) the body must prevent glucose levels from changing even slightly.

Answer:  B

Topic:  20.15

Skill:  Knowledge/Comprehension

2) If you hadn't eaten for several hours, which hormone would be responsible for returning your glucose levels to the set point?

A) insulin

B) glucagon

C) liver

D) pancreas

Answer:  B

Topic:  20.15

Skill:  Knowledge/Comprehension
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